



Nome: _____

Data: _____ Punteggio: _____

$$(4 - \frac{1}{6})^2 - \frac{2}{3} + \frac{1}{2} + 3^2 =$$

$$(5 + \frac{1}{6})^2 + \frac{2}{5} + \frac{1}{5} - 2^2 =$$

$$(\frac{2}{5} - \frac{3}{2})^2 + \frac{3}{5}(\frac{1}{5} - \frac{1}{5}) =$$

$$(\frac{2}{3} + \frac{1}{3})^2 + \frac{2}{3}(\frac{1}{2} - (\frac{1}{6})^2) =$$

$$(\frac{2}{3} + (\frac{1}{5})^2) \times \frac{1}{2} + (\frac{1}{3} - \frac{1}{4})^2 =$$

$$(\frac{2}{5} - (\frac{1}{2})^2) \times \frac{3}{4} - (\frac{3}{5} - \frac{1}{5})^2 =$$

$$(5 + \frac{2}{3})^2 + \frac{1}{2} - \frac{1}{2} - 4^2 =$$

$$((\frac{1}{3})^2 - \frac{1}{6}) \times \frac{1}{2} - (\frac{2}{3} + \frac{3}{2})^2 =$$

$$(\frac{1}{5} - \frac{1}{3})^2 - \frac{3}{2}(\frac{1}{3} + \frac{1}{5}) =$$

$$(2 - \frac{3}{4})^2 + \frac{3}{4} \times 4^2 - \frac{2}{5} =$$



Nome: _____

Data: _____ Punteggio: _____

$$(4 - \frac{1}{6})^2 - \frac{2}{3} + \frac{1}{2} + 3^2 = \frac{847}{36} = 23\frac{19}{36}$$

$$(5 + \frac{1}{6})^2 + \frac{2}{5} + \frac{1}{5} - 2^2 = \frac{4193}{180} = 23\frac{53}{180}$$

$$(\frac{2}{5} - \frac{3}{2})^2 + \frac{3}{5}(\frac{1}{5} - \frac{1}{5}) = \frac{121}{100} = 1\frac{21}{100}$$

$$(\frac{2}{3} + \frac{1}{3})^2 + \frac{2}{3}(\frac{1}{2} - (\frac{1}{6})^2) = \frac{71}{54} = 1\frac{17}{54}$$

$$(\frac{2}{3} + (\frac{1}{5})^2) \times \frac{1}{2} + (\frac{1}{3} - \frac{1}{4})^2 = \frac{1297}{3600}$$

$$(\frac{2}{5} - (\frac{1}{2})^2) \times \frac{3}{4} - (\frac{3}{5} - \frac{1}{5})^2 = (-\frac{19}{400})$$

$$(5 + \frac{2}{3})^2 + \frac{1}{2} - \frac{1}{2} - 4^2 = \frac{145}{9} = 16\frac{1}{9}$$

$$((\frac{1}{3})^2 - \frac{1}{6}) \times \frac{1}{2} - (\frac{2}{3} + \frac{3}{2})^2 = (-\frac{85}{18}) = (-4\frac{13}{18})$$

$$(\frac{1}{5} - \frac{1}{3})^2 - \frac{3}{2}(\frac{1}{3} + \frac{1}{5}) = (-\frac{176}{225})$$

$$(2 - \frac{3}{4})^2 + \frac{3}{4} \times 4^2 - \frac{2}{5} = \frac{1053}{80} = 13\frac{13}{80}$$